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MTHE21 Quiz 3 - Lecture 23 10 27

Queston # 9 of 10 ( Start teme 09 48 57 PM_ 18 January 2018 )
For the function f(x) = zsind, x # 0, which statement is true
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MTHE21 Quaz 3 - Lecture 23 10 27

Question # 7 of 10 ( St tene: 07 5240 PM. 16 January 2018 )

For the functon defined as

for every « - 0 the formal defndon ensures
Seldect the comect opbon

I(z) = ex,

f(x) ~ exa| <, |z ~ xg| < 8, where 0 <8< e

O

Ifiz) — exa] <, Iz ~ 2zg| < 8, whare 0 < § < «/flel.

[1/z) ~eml <, |z — a0l < b where e <d<e.

O

O

1 {rl cxy) <, : n-r: l,-hlnn' $<ce

% Pg/8
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MTHE21 Quez 3 - Lecture 23 10 27

Question # 9 of 10 ( Start eme 07 54 42 PM, 16 January 2018

The imit B

Sedect the comect opbon

O

2 -

does not exst
O

O
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MTHE21 Quaz 3 - Lecture 23 1o 27

Question # 6 of 10 ( Start bme 07 5132 PM_ 16 Jonuary 2018 )

The lim, .0 - "-:.""' 5

Select the commect opbon
0 Ll
-3
O
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MTHE21:Quez 3 - Lecture 23 10 27

Question # 6 of 10 ( Start teme: 09 47 44 PM_ 18 January 2018 )
i lim f(z) = 10 and lim g(x) = —zmh-ﬂ-;{--

Select the comect opbon

10
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MTHE21 Quaz 3 - Lecture 2310 27

Queston § 8 of 10 ( Stan tene 09 48 27 PM_ 18 January 2018 )
For the pecewse defined functon Six) = Ve |

e, r<0,
.I"liﬂj.-. z >0,

Sedect the comect opbon

| n Pg108 \/




MTHO21 Quiz No 3

Question # 3 of 10 ( Start time: 03:208 42 PML 16 Febroary 2079 )
It & function [ s conteous on the closed interval then [ attain ity

Select the correct oplion

o j...,........m:p Pg110

:mnnnmmudminm

:

may or may not athan extreme vaiues n the cioted interval

denvatiee i the Ciosed interval
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Question # 10 of 10 ( Start rme 0232 30 P, 16 Febromry 2019 )

D a <),

s,
ﬂum:mﬂ.ﬂ-[z I';-r'él.-

Sedect the correct aplion

I=102. /

J=D2

=02

o uncefinec on

O ]2
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MTH621:Quiz No 3

Question # 4 of 10 ( Start time: 03:29:43 PM, 16 February 2019)

The derivative of the function +" is

O
0:"
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Quiz Start Teme 0226

MTHE2T Ouz Ne 1

Question # § of 10 ( Start time 0330 23 FM 16 Fetrosry 2019 )
T Mean Value Theorsm says, suopose that f v dfferentiable on ja. b). f'{a) = f'(b), and p = between [*{a) and f*(b)

Select the correct aption

J:Tmf‘irl * uhmrhli.ll
O |
|
Then ['(c) = ptor some e in [, b)
0 |

| Then 1*(c) = U tor some e (s, b)

Than [7(«) may b O or jo for some ¢ la, b)

Pg111
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MTH621:Quiz No 3

Question # 2 of 10 ( Start time: 03:28:07 PM, 16 February 2019
if f:1— R hasaderivativeatc = I then fis

Select the correct option
continuous at c.
-
discomtinuous at c.
O
undefined at c.
O
having one sided Nmit
O
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Question # 10 of 10 ( Start rme 0232 30 P, 16 Febromry 2019 )

D a <),

s,
ﬂum:mﬂ.ﬂ-[z I';-r'él.-

Sedect the correct aplion

il: 0,2 . /

O

o I = in, 2
= hawng negstive values on

O I=02
1 unoefrec on

O ]2
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MTHE21 Quaz No 3

Question # 4 of 10 ({ St eme 01 01 38 AM 17 February 2019 )

The function hiz) = -2 &

Sedect the correct opbon

“-Mtln{—w.unl.

O

-mnt-mma. B Pg 97 ‘ '/

S ——

O

mm( o0, 0o).

| positive on (00, 20).

O
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MTHE2T Quaz No 3

Question # 1 of 10 ( Start tme 12 5951 AM 17 February 2019 )

The function g(z) = 2* o

Scanned with CamScanner



MTH621:Quiz-3

Question # 1 of 10 ( Start time: 05:37:55 PM, 17 August 2021 )

The series > (—1)"a, converges if 0 <an < ap and lim a, = — — — — — :

Ir—=D0

Select the correct option

—1

O

ol p Pg62

None of these
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I |
MTHE21:Quiz-3 Quiz Start Time: 10:57 PM, 17 August 2021

Question # 2 of 10 { Start time: 10:58:26 PM, 17 August 2021 ) Total Marks: 1

Let f be bounded on |a, b, and let P be a partition on [a, k). Then
The upper sum s{P) of f over Pisthe — — — — — — — af the set of all fiemann sums of f over P,

Select the corract option ~ Reload Math Equations

mf trmum

O |

) p Pg1 31

Scanned with CamScanner



MTHG621:Quiz-3 Quiz Start Time: 10:67 PM, 17 August 2021

Question # 8 of 10 ( Start time: 11:03:35 PM, 17 August 2021 ) Total Marks: 1

Generalized Mean Value Theorem says, If fand g are continwous on the closed interval |a, b] and differentiable on the open interval (o, k). then

Select the correct option 2 Reboad Math Equations

g [x) = 0 for all x in (a. b).

O

G Igth) - glal] = [fib) - Maile (<) i

for some cim (o b

I
5 o s w Pal121
for some ¢ in (@, bl g

g [x) = £ (x) for all xin (a, B, -

’ i
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MTH621:Quiz-3

Question # 1 of 10 ( Start time: 03:52:38 AM, 18 August 2021 )

Qui

If fis continuous at x,, then f is dif frentiable at x,.

Select the correct option

B Pg105

false

true

Scanned with CamScanner



MTH621:Quiz-3

Question # 10 of 10 ( Start time: 01:19:07 AM, 18 August 2021 )

s |
iy,

The radius of convergence of > an(x —x,)" is given by — — — — = lim |
fi—D0

1 fthe limit exisis in the extended real system.

Select the correct option

R

O

none of these

=] L

B Pg70
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MTHGE21:Quiz-3 Quiz Stan

Question # 3 of 10 ( Start time: 08:00:34 PM, 18 August 2021 )

If fis dif frentiable at x,, then fis continuous at x,.

Select the correct option

. B9 rgios

false

Scanned with CamScanner



MTH621:Quiz-3

Question # 7 of 10 ( Start time: 01:09:33 AM, 18 August 2021)

The function g(z) =2%is — — — — - on

inreasin g

decreasin g

Scanne d with CamScanner



MTH621:Quiz-3

Question # 3 of 10 ( Start time: 01:20:54 AM, 18 August 2021)

The function g(z) = «* is inreasing on — — — ——

Select the correct option

O

none of these

E® Pg97 s -
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MTH621:Quiz-3

Question # 5 of 10 ( Start time: 01:24:53 AM, 18 August 2021)

The series )y  (—1)*a, —— ———— if0<a,.1 < a, and lim a, =0

I—0

Select the correct option

CONVETJES

=Y Pg62

diverges
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MTH621:Quiz-3

Question # 3 of 10 ( Start time: 03:53:08 AM, 18 August 2021)

The series Y _ a,b, converges if a, , < a, forn > k, lim a, =0, and
b + bpy+...+b,| — — — —M, for some constant M.
Select the correct option
<

O

Noneof these

[ ] ) B PgS9 \/
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MTH621:Quiz-3 Quiz Start Tin

Question # 6 of 10 ( Start time: 03:53:57 AM, 18 August 2021 )

Suppose that f has n derivative at x, and n s the the smallest positive

integer such that f" (z,) #0. If n is even, x,18 — — — — — — — — — if £ x,) =

Select the correct option

None of these

O

a local maximum of f.

not a local extreme pomnt of f.

Pg1 23 . a local minimum of f. v
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MTH621:Quiz-3

Question # 8 of 10 ( Start time: 03:54:19 AM, 18 August 2021 )

Investigate the value of lim g s

T—0O0

o EDPg119 s
5 ﬂ
5 ;
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MTH621:Quiz-3 Quiz Start Time:

Question # 9 of 10 ( Start time: 03:54:48 AM, 18 August 2021 )

Suppose that f has n derivative at x, and n is the the smallest positive
integer such that f" (x,) #0. Ifnisodd, z,18 —— — — — — — — :

Select the correct option

a local maximum of f.

O

None of these

O
I Pg123 [omemmmas

a local minimum of f.
O
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MTH621:Quiz-3

Question # 10 of 10 ( Start time: 03:55:01 AM, 18 August 2021 )

The radius of convergence of the given power series > nlz" is — — — —-

Select the correct option

e B ri2

none of these

Scanne d with CamScanner



MTH621:Quiz-3

Question # 2 of 10 ( Start time: 08:00:21 PM, 18 August 2021 )

!x..
If % b, is rearrangement of an absolutely convergernt series
n=1

> ay, then > b, also — — — — — — absolutely, and tothe same sum.
n=1 n=1

Select the correct option

diverges

converges

=Y Pg64
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MTH621:Quiz-3

Question # 4 of 10 ( Start time: 08:00:49 PM, 18 August 2021)

b
In the Riemann integral f_f[a:] de , if it exist, is — — —
1]

Select the correct option

di f ferent

=Y Pg127 ,_/
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MTH621:Quiz-3

Question # 5 of 10 ( Start time: 08:01:01 PM, 18 August 2021)

- - 0 - n -
The radius of convergence of the given power series Y :‘T is ——— ——.

Select the correct option

Oﬂ
o Pg71 g

None of these
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o DTSR
MTHE&21 :Quiz-3 Quiz Start Time: 08:00 PM, 18 August 2021

Question # & of 10 [ Start time: 08:071:15 PM, 18 Avgust 2021 ) Totzl Marks: 1

Suppose that [ hos n dervative at r, and n s the the smallest positive

integer such that f" (zo) = 0. If n is even, o168 — — — — — — — — — if jl"l-"-l [xa) = 0O.

Select the correct option & Relosd Math Equations

None of these

Pg‘l 23 [P

e

not a {ocal erfreme pomt of f.

a local manymum af f.
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MTH621:Quiz-3

Question # 7 of 10 ( Start time: 08:01:27 PM, 18 August 2021 )

]_ill'l}l x log x, has the following indeterminate form
x—U4

Select the correct option

9
2

O

o0 X 0O0.

e B Pg117

0=

Scanne d with CamScanner



IS

MTHE21:Quiz-3 Quiz Start Time: 08:00 PM, 18,

Question # B of 10 [ Start time: 08:07:39 PM, 18 August 2021 ) T

If fis unbounded on [a, b, then fis — — — — — — - on |a,b|.

Select the correct option

B Pg129

integrable
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MTH621:Quiz-3

Question # 9 of 10 ( Start time: 08:01:52 PM, 18 August 2021 )

Investigate the value of lim zloger =— — ——.

I—ro—+

Select the correct option

O

None of these

CY Pg117 o~
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MTHE&21:Quiz-3 Quiz Start Time

Question # 10 of 10 ( Start time: 08:02:04 PM, 18 August 2021 )

Ififip = "= on a,b|, then fis not integrable on a,b].

Select the correct option

bounded

EY Pgi20  _-
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[EE——— |
MTH621:Quiz-3 Quiz Start Time: 09:58 AM, 18 August 2021

Question # 1 of 10 ( Start time: 09:58:31 AM, 18 August 2021) Total Marks: 1

Let f be bounded on [a, b}, and let P be a partition on [a,b]. Then

The lower sum s(P) of f over Pisthe — — — — — — — of the set of all Riemann sums of [ over P.

Select the correct option © Reload Math Equations

SUP rerm

B9 g1zt T

o e i o el T P e T Pt r st ] AP A s PP s T
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